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402 SI2t A2 36,000 81,000 A 45,000
01 QI2vX} A R (KM 36,000 81,000 A 45,000
O &t SHSAIY 36,000
=) =i s 5,000 5,500 A500
201 2Bty 1,000 1,000 0
01 AP 2+ 1,000 1,000 0
O &l 2 =y 1,000
203 HR= 1,000 1,000 0
03 Al ZH= | 1,000 1,000 0
(@miEs & 200,000 x53] 1,000
301 LBt A& 3,000 3,500 A 500
09 S AFA 3,000 3,500 A 500
(@miE 2 Holgl EHALA
20,000& *30Y *x53| 3,000
FChe SH N sAHE 24,000 22,500 1,500
402 Q12+ X} 24,000 22,500 1,500
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el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 24,000 22,500 1,500
OFCeH dNzitE MAXTH
400,000& *120ha*50% 24,000
=8 d=2MdEL XA 42,500 42,500 0
402 2I2H X201 M 42,500 42,500 0
01 2I2F 2 A B (RERTH ) 42,500 42,500 0
ot=d M=2M&E X
17,000, 0002 »5CH x50% 42,500
sHE 832 B2 7,500 7,500 0
402 RI2HXt20l 7,500 7,500 0
01 212t 2 A E = (REMTH ) 7,500 7,500 0
OFUE 3t 2= 3,000,000 »5CH x50% 7,500
== 2FNY B2 20,000 20,000 0
402 RI2FX=201 M 20,000 20,000 0
01 2I2F 2 A B (KR ) 20,000 20,000 0
Ot 2FIMYE 23 8,000, 000& *53 *50% 20,000
=28 2012 N& 33,005 6,000 27,005
< 13,202
e 19,803
402 RIZFR201 A 33,005 6,000 27,005
< 13,202
e 19,803
02 LA TEALEZ(0IETHR) 33,005 0 33,005
Ol =3E ZII2 XNA(0Z2) 33,005
< 13,202
s 19,803
D MAAILSHE XA 250,000 500,000 A250,000
J| 100,000
< 45,000
[ia 105,000
402 RI2tXt20l ™ 250,000 500,000 A250,000
J| 100,000
< 45,000
[ia 105,000
02 It 2 AL EZ (OIS ) 250,000 0 250,000
Otz MAAIL HUSALS 250,000
J| 100,000
< 45,000
i 105,000
HE s&IYZ N 14,420 8,000 6,420
< 5,770
s 8,650
402 RI2HX =201 M 14,420 8,000 6,420




SN HEZsY
Ha: 50t AS OF

SRl U MAALTRE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,770
s 8,650
02 LA TEALEZ(0IETHR) 14,420 0 14,420
O sxd=z XA 14,420
< 5,770
[ia 8,650
A XHDSE MACI AlEZH 16,000 0 16,000
= 6,000
s 10,000
402 RI2tXt20l ™ 16,000 0 16,000
< 6,000
= 10,000
02 2IZt 2 AL EZ (01X TH ) 16,000 0 16,000
OMAEDSE MAHI =4
20,000, 000 *1JH 2 x80% 16,000
< 6,000
s 10,000
Dt RQUELH MADZ AlY 40,000 40,000 0
< 15,000
s 25,000
402 RIZ2EXt20l ™ 40,000 40,000 0
< 15,000
[ia 25,000
02 RIZE X2 AL EZ (OIS ) 40,000 0 40,000
Ot RN =53 AlE
50,000, 000 *1JH 2 x80% 40,000
= 15,000
[ia 25,000
== SE2E| B2 40,000 50,000 A 10,000
402 RIZEX201 A 40,000 50,000 A 10,000
01 U2 EALE X (KA R) 40,000 50,000 210,000
Ol sE2EI| 2= 20,000,000& »4CH x50% 40,000
e =82 2R XA 9,000 9,000 0
402 RI2HXt20l 9,000 9,000 0
01 212t 2 AL E = (REM ) 9,000 9,000 0
Ot === 2EXUM X
3,000& *6,0007H «50% 9,000
Ch2 Ot =4At2 MAt 10,000 0 10,000
402 RIZ2EXt20l ™ 10,000 0 10,000
01 RIZt Xt 2 AL E = (REA &) 10,000 0 10,000
OHUNTSME SHANY
2,000,000& *10ha*50% 10,000
AASHAMAAL SHE 48,760 0 48,760
< 19,504
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SN HH-S(BN) - MBAY - B e 2
o 29,256
402 DIZFRHE 0| A 48,760 0 48,760
< 19,504
s 29,256
02 QIZEHEAIL B (01X S) 48,760 0 48,760
OUAS WAMAAL SHHS 48,760
< 19,504
[ia 29,256
St B S A 113,085 100,743 12,342
< 6,000
[ia 107,085
AMAE &4Z3 AlY 16,000 0 16,000
< 6,000
[ia 10,000
402 RIZER20l ™ 16,000 0 16,000
< 6,000
e 10,000
02 22t X2 AL E = (01X THE) 16,000 0 16,000
ONMAE &Zst A"
20,000,000& * 10 2= *80% 16,000
< 6,000
s 10,000
2 AP 29 97,085 92,743 4,342
101 124 dl 61,085 56,743 4,342
4 D12t Z2XREES 61,085 56,743 4,342
O 2R LprolF 37,996
OJles 51,7603 210 «2H 21,740
Onrssgdsd 51,7603 »43 x2H 4,452
ORsdxt=g 51,7603 x 10 2 H 1,036
Oxg2®? 51,760 *150%*43 x2H 6,678
og3E=REZ 4,090
O 2¢RE M2 23,089
OJdles 63,0403 +210 1Y 13,239
ORrssgs% 63,0403 x43 x1H 2,711
ORS¢ 63,0403 x 102 1 631
oFxgz== 63,0403 x150%*43 x1H 4,067
OH3E=RE=2 2,441
201 YEt2 Ayl 1,000 1,000 0
01 At 2teltl 1,000 1,000 0
0L 22T 2F A28 5 7
100,000 108 1,000
206 28 35,000 35,000 0
01 MHZ 4l 35,000 35,000 0
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M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
oL APE 2H M2 35,000
OsXHER) 7YHl S 5,000,000& *43| 20,000
Ozt A& RAH & 2,500,000 x43| 10,000
OHlg,s2 g4l 2eH S
1,000, 000& *53] 5,000
PIESE= 908,850 909,550 A 700
= 15,000
= 80,000
= 813,850
NAELS I SHE AL XS (2 0) 696,850 788,350 A 91,500
402 SI2FXHE0| & 696,850 788,350 A 91,500
01 SIZEXIEANSEXZ (MMM L) 696,850 788,350 A 91,500
OAZX EH3t XS AMH
4,300,000 x200ha*50% 430,000
OYUZENE EH3 XA 76,850
Ox&= 2Ex A& 9,350
OHAZEG OJME2 MM XNE S
4,500, 0002 *30ha*50% 67,500
Ozt EH35 XN2AIE  2,000,000& *x30= *50% 30,000
oO8x EA43 XNEAE  8,000,000& *x20ha*50% 80,000
OFLIZE EM3t XA 30,000
O=JIE HI& 25,000& *2, 000X x50% 25,000
OLs: 2 A4 DHE NN S
10,000, 000& *x50% 5,000
O EHS XNIAE  5,000,000& *20ha*50% 50,000
S0z Al (EH) 48,000 61,200 A 13,200
< 18,000
= 30,000
402 IV X201 & 48,000 57,200 N 9,200
< 18,000
= 30,000
02 CIZIXIEAIS X (0| XM THL) 48,000 0 48,000
ORUTE SOIUH 245 Al
50,000, 000& =10 A *80% 40,000
= 15,000
= 25,000
OAEA0 X=SOHH MSAF AlYH
10,000, 000& = 1JH 2 *80% 8,000
= 3,000
= 5,000
A Z2UHSHEES sIEUH 23 64,000 0 64,000
= 32,000
= 32,000
0I2t X2 0| & 64,000 0 64,000
= 32,000
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el ASHE JIsEsS CEE-ED
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o 32,000
02 BIZtXIEANYEX(0OIETHHA) 64,000 0 64,000
OHA ZUELdEZS sIHEWH BE=2AY
80,000, 000& =10 A *80% 64,000
= 32,000
= 32,000
ICTOI B AH&HA THHHE @S AQEER & 70,000 0 70,000
& 30,000
= 40,000
402 IV X201 & 70,000 0 70,000
& 30,000
= 40,000
02 CIZEXIEAIS X (0| XM THL) 70,000 0 70,000
OICTII B A&HAF THHHE @ISt AODE™ &
100,000,000 *1JH A x70% 70,000
& 30,000
= 40,000
= MIlEs AE(2uE=s) 30,000 0 30,000
= 15,000
= 15,000
402 SI2F X201 M 30,000 0 30,000
= 15,000
= 15,000
02 BIZEXIEANYEX(0IETHH) 30,000 0 30,000
o2z g JlsdEal g2 94X =4
30,000,000 * 104 & 30,000
= 15,000
= 15,000
ANETA B SFA 4,588,330 2,260,230 2,328,100
= 1,390,000
J| 780,660
& 711,647
= 1,706,023
20EE FHME SN 100, 180 108, 880 A8,700
201 gBt24y| 1,680 1,680 0
01 A2t 2| bl 1,680 1,680 0
OgLbt4=24| 1,680
OO & 70,000 *6H *43] 1,680
203 ¥ R =& H| 1,000 1,000 0
03 Al 2 =& 2 = X H| 1,000 1,000 0
OMAERZ0F 2t 3 = 200,000& x53| 1,000
402 SI2FXHE0| & 97,500 106,200 A 8,700
01 SIZEXIEANSEXR (MM M) 97,500 106,200 A 8,700
OXlot4 e XA 8,000,000& *x152 *50% 60,000
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34,000

12,750
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o 80,000
02 U EALEZ(0IETHR) 160,000 0 160,000
OL=otRA AEMMLH X3A
10,000& *8,000m" x50% 40,000
< 20,000
i 20,000
OMAMEAIE SHE X2 A
10,000& *24,000m" x50% 120,000
< 60,000
e 60,000
ANE20 s X2 1,600,000 1,639,370 A 39,370
J| 640,000
< 288,000
e 672,000
402 RI2EX=20l A 1,600,000 1,639,370 A 39,370
J| 640,000
< 288,000
s 672,000
02 QI EAIL EZ (01X S) 1,600,000 0 1,600,000
OANE20 SEMNL(FUE2EX)
3,000,000,000% *17H 2 x50% 1,500,000
J| 600,000
< 270,000
e 630,000
OANE20 SEMNL(LRUAL)
200,000, 0002 *1JH 2 x50% 100,000
J| 40,000
< 18,000
e 42,000
Ot=THEH s 21 H X & 2,000 0 2,000
= 1,000
s 1,000
402 RI2EX=20| A 2,000 0 2,000
< 1,000
s 1,000
02 QI EALEZ (OIS ) 2,000 0 2,000
OOt=THEE sI1H XI& A
4,000,000 = 1CH*50% 2,000
< 1,000
e 1,000
HWAER AZASEE K& 50,000 0 50,000
402 RI2FX=01 M 50,000 0 50,000
01 2I2F 2 A B (KR ) 50,000 0 50,000
OMAER AZLSEE XA 50,000
A AIEGHRA AX X2AY 50,000 0 50,000
402 RIZEX20l A 50,000 0 50,000
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O&l7 AEStSA EX XEAE 50,000
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SS20F AT HUHXIAE X2 1,666,000 0 1,666,000
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333,200
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402 212t X201 & 1,666,000 0 1,666,000
1,190,000
142,800
333,200

Mo R

02 (I 2 ALEZ(OIETHR) 1,666,000 0 1,666,000

2,380,000,000& *1ha*70% 1,666,000
1,190,000
142,800
333,200

EURL Y

DFHIOHE THHHAIE XI& 301,650 0 301,650
120,660
54,297
126,693

S

EURLY

402 212t A= 01 & 301,650 0 301,650
120,660
54,297
126,693

S

EURLY

[m]

02 (IR ALEZ(OIETHR) 301,650 0 301,650

OLFHIJE MHHAIE XA 301,650

120,660
54,297
126,693

[

S

Mo

S A AL 882,322 1,727,930 A 845,608
24,000
92,828
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Ehel ;%JI)IIEMQ (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
WE8sdJIH K& 24,000 48,000 A 24,000

= 12,000
s 12,000
201 £B-2d| 6,000 6,000 0
= 3,000
s 3,000
01 At 22/l 6,000 6,000 0
OsJIHEd Let2EH| 6,000
= 3,000
= 3,000
206 M= Hl 4,000 4,000 0
= 2,000
e 2,000
01 =8l 4,000 4,000 0
OsJIH nNEsd M=l 4,000
= 2,000
s 2,000
301 et A3z 2,000 2,000 0
= 1,000
i 1,000
09 EALAHIE &S 2,000 2,000 0
O8Z0EI=znE HIHEH 40,000& x50H 2,000
= 1,000
i 1,000
405 RHoHE S HI 12,000 36,000 A 24,000
= 6,000
i 6,000
01 AL EZFH S 12,000 36,000 224,000
OsJH sy *4 12,000
OZ 02l 12,000, 0002 »1CH 12,000
= 6,000
i 6,000
sIlH &z =cl 30,000 30,000 0
201 LB-2d| 10,000 10,000 0
02 =224l 10,000 10,000 0
ORSEY L HAXNAE SIH %2l
100,000& = 100CH 10,000
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
O=sJld&sl+=e 25 & &FH 7¢
20,000& =1,000H 20,000
SIIH L AR (KERI) 441,830 180,510 261,320
101 @124l 85,780 53,460 32,320
04 JIZHHZ2XNESE S+ 85,780 53,460 32,320
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K- EH3 B (3H) - HSAY - Ba2 il HDS2
OsIHIUAIYE FRo2A 85,780
oJ=3 66,000 21 x4H 102 55,440
Ose=22Y 99,000& *30 x2& 5,940
ORrssdY 66,0003 *4H x4 «10& 10,560
ORa&sIIxx== 66,000 *4H 10 2,640
o4 B8& s 280,000& x4H «10& 11,200
201 L2 Y| 94,050 65,050 29,000
01 AL 22l 14,050 14,050 0
oger249| 14,050
OsIAHLUALS ARG LG
70,000& x5H x33] 1,050
OsIHLUAL B2 M
1,000& *3,0000H 3,000
OsJIHL U A &35l
200,000& *503] 10,000
02 =294l 80,000 51,000 29,000
0332= ¥ SA&2Hl 80,000
O t=sINIAH 20+ 200, 000& *=150CH 30,000
O2Z282 % AdUsIIH A2
200, 000& *250CH 50,000
401 Al B 2 0HHI 150,000 0 150,000
01 A& HI 150,000 0 150,000
OLUUsIHEZ L 2AL2/AIE 150,000
405 XtabE SHI 112,000 62,000 50,000
01 AL =2 EF SHI 112,000 62,000 50,000
OLU=sIAH 7+ 20,000, 000& =504 100,000
odBt-dx & &P 1,500,000& x84 12,000
SESESASIAHXNA 230,683 264,400 N33,717
& 69,085
= 161,598
201 et A | 400 400 0
01 AFR2 22l Yl 400 400 0
oExZ2el AEH MH 1,600& *250CH 400
402 212H X201 & 230,283 264,000 N33,717
& 69,085
= 161,198
02 QIZEXIE2 AN EX(0IMTHS) 230,283 0 230,283
OXFH ZAxsIH XNE 460,566 ,000& *50% 230,283
< 69,085
= 161,198
MOS0 22 & X3 70,000 0 70,000
401 Al HI YL =2 Tl 70,000 0 70,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 70,000 0 70,000
O4 G0l SE&00tE ZE A 70,000
sZIIAH etduE XA 53,809 57,320 A3,511
< 20,143
[ia 33,666
201 L2l 9,000 8,000 1,000
= 2,700
i 6,300
01 At 22l 9,000 8,000 1,000
OJlHz =54 Ldet23Hl 9,000
< 2,700
s 6,300
202 o4l 7,483 9,320 A 1,837
< 2,245
s 5,238
01 = LH 4 Hi 3,483 3,660 ATT
O8&Il= =& 2UAHHI 3,483
< 1,045
[ia 2,438
03 =AW 4,000 0 4,000
O8&EII= F& =220l 4,000
< 1,200
[ia 2,800
402 QI2H X201 M 20,000 20,000 0
= 10,000
i 10,000
02 QIZEH 2 A EZ (OIS ) 20,000 0 20,000
Osa2 AEI| XY 1,250,000 *20CH *80% 20,000
< 10,000
[ia 10,000
405 RHoHE S HI 17,326 20,000 N2,674
< 5,198
e 12,128
01 et EZFH S 17,326 20,000 AN2,674
ORou=J ¢ 14,193
< 4,258
2 9,935
osdE AxI| 7Y 3,133
< 940
e 2,193
SIH nsed 2,000 2,000 0
201 24l 2,000 2,000 0
01 At 22l 2,000 2,000 0
OsJIHNEY 249 =57
2,000,000& »14l 2,000
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S HSEXN XA 30,000 62,400 A 32,400
= 12,000
< 3,600
s 14,400
402 2I2H X201 M 30,000 62,400 A 32,400
= 12,000
< 3,600
s 14,400
02 QI EAISEZ (01X THS) 30,000 0 30,000
OSsStEX=RE XA AL 100, 0002 *300CH 30,000
= 12,000
< 3,600
[ia 14,400
sHLSZIELE XA 39,327 34,774 4,553
= 10,500
< 1,250
i 27,577
gol S0 & 2l 39,327 34,774 4,553
= 10,500
< 1,250
e 27,577
sHSEls Aty 29 N 18,000 22,803 A 4,803
= 9,000
e 9,000
101 124 dl 16,038 14,979 1,059
= 8,019
s 8,019
03 RIAHAZZ2TE = 16,038 0 16,038
OdoiEacazy A2 (2Hl) 16,038
= 8,019
s 8,019
201 Let24d] 1,962 1,324 638
= 981
s 981
01 At 22l 1,962 1,324 638
Ogols ata 24 1,962
= 981
e 981
sHsYs A 29 X3 (XHA) 13,327 11,971 1,356
101 14 Hl 5,235 4,879 356
03 RIAHAZZ T E += 5,235 0 5,235
OH ols HEZE dX2d A2Y 5,235
201 et 8,092 7,092 1,000
01 At 221l 4,000 3,000 1,000
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